
Solution - Système 2 Equations - 2 Inconnues - s1455

Résoudre dans  IR le système suivant :   
 (x – 1)(y – 2) = (x + 1)(y – 3)

(x – 5)(y – 4) = (x – 4)(y – 1) .




(x – 1)(y – 2) = (x + 1)(y – 3)
(x – 5)(y – 4) = (x – 4)(y – 1)  


xy – 2x – y + 2 = xy – 3x + y – 3
xy – 4x – 5y + 20 = xy – x – 4y + 4  


x – 2y = -5
3x + y = 16 .




x – 2y = -5
6x + 2y = 32  7x = 27 , soit  x= +27

7 .

Reportons dans  3x + y = 16 , soit :  81
7 + y = 16  y = 112

7 – 81
7  y = +31

7 .

Le couple solution unique est  (x ; y) = (+27
7 ; +31

7 ) .


